CPD Spotlight Quiz – Worked Solutions
Basel II
Question 1

“International convergence of capital measurement and capital standards: a revised framework”, better known as Basel II, has been under discussion for some time.  When is this regulatory framework due to come into effect in the UK?

(a) It is already in effect

(b) From January 2007

(c) From January 2008

(d) The date is yet to be determined

(e) Don’t know

Answer 1

The right answer is (b) From January 2007

The Treasurer, Basel II, June 2006
Question 2

Basel II allows three approaches to determining credit risk associated with their lending to companies.  The least sophisticated is the “standardised approach”.  The other two are described as the “foundation internal ratings-based approach” (FIRB) and the “advanced internal ratings-based approach” (AIRB).  Which of the following statements about the approaches is correct?

(a) Under the FIRB approach risk weights for loans to companies are determined by the  credit rating of the company concerned, while under the AIRB approach banks can use their own systems to determine all risk weighting factors.

(b) Under the standardised approach risk weights for loans to companies are determined by the credit rating of the company concerned, while under FIRB approach banks can use their own systems to determine all risk weighting factors.

(c) Under the standardised approach risk weights for loans to companies are determined by the credit rating of the company concerned, while under AIRB approach banks can use their own systems to determine all risk weighting factors.

(d) Under the standardised approach risk weights for loans to companies are determined by the credit rating of the company concerned, while under both IRB approaches banks can use their own systems to determine all risk weighting factors.

(e) don’t know

Answer 2

The right answer is (c)   Under the standardised approach risk weights for loans to companies are determined by the rating of the company concerned, while under AIRB approach banks can use their own systems to determine all risk weighting factors.

The standardised approach is a refinement of the original Basel Accord, using corporate ratings to discriminate between credit quality of borrowers.  The foundation IRB approach allows some self-determination of the risk weighting factors, with the remaining factors prescribed by the supervisory authority.  If a bank can satisfy the authorities that it qualifies for the advanced IRB approach, it can determine all of the risk weighting factors.
Bank for International Settlements website, http://www.bis.org/publ/bcbs128.htm

ACT website, http://www.treasurers.org/technical/papers/capitaladequacy.cfm

Question 3

Under the standardised approach to credit risk weighting, what would be the impact for a borrower of a credit rating downgrade from A- to BBB+?

(a) Originally 50% risk weight, would become 100% risk weight

(b) Originally 20% risk weight, would become 50% risk weight

(c) Originally 100% risk weight, would become 150% risk weight

(d) There would be no difference

(e) Don’t know

Answer 3

The right answer is (a) Originally 50% risk weight, would become 100% risk weight
Bank for International Settlements website, http://www.bis.org/publ/bcbs128.htm

The Treasurer, Basel II, June 2006
Question 4

During 2006 a quantitative impact study has been published to investigate the impact which the changes in Basel II are likely to have on banks.  According to this study Group 1 banks, those who are internationally active and diversified institutions with a Tier 1 capital of over EUR 3 billion and using the advanced IRB risk weighting system are expected to experience a changed requirement for capital to support their activities.
Which of the following is closest to the anticipated change in capital required?

(a) An increase in capital of 2%

(b) A reduction in capital of 1%

(c) A reduction in capital of 7%

(d) A reduction of capital of 15%

(e) don’t know

Answer 4

The right answer is (c) A reduction of capital of 7%

In fact the study found that the advanced IRB showed a reduction of 7.1%, the foundation IRB showed a reduction of 1.3% while the standardised approach to risk weighting showed a rise in capital required of 1.7%.  Some reports have suggested that the major US banks have intimated that they are likely to reduce their capital requirement by as much as 15%.  Such claims have been greeted by other domestic US banks with alarm.

BIS website, http://www.bis.org/press/p060524.htm
Question 5

Within the Basel II Framework there is provision for special treatment for small and medium-sized enterprises.  These provisions vary depending on which risk weighting approach is being used by the bank.  Consider a lending bank using the standardised approach while an SME borrower is being managed as part of a pool of borrowers and is borrowing less than EUR 1 million.
In this situation, what is the percentage of the full risk weight which would be applied?

(a) 50%

(b) 75%

(c) 100%

(d) 125%

(e) don’t know

Answer 5

The right answer is (b) 75%

The intention is to try to allow for the perception that while SMEs individually are higher risk, that if they are treated together then the resulting portfolio is lower risk than an equivalent large company lending (“granularity”).  Outside the standardised approach there is a “firm size adjustment” weighting reduction from 20% at EUR 5 million sales to 0% at EUR 50 million (total assets can be substituted if sales are not a meaningful measure of size).

BIS website, http://www.bis.org/publ/bcbs128.htm, and http://www.bis.org/publ/bcbs128d.pdf (the Annex section of the Basel Accord), Annex 11, paragraphs 12 and 13, on page 324)
Question 6

Which of the following best reflects the implications of Basel II for treasurers who wish to arrange borrowings?

(a) Differences may increase in loan pricing between banks using different models and documentation for existing loans should be checked to ensure that it deals with the risk that pricing may change as models or ratings change.

(b) Documentation for existing loans should be checked to ensure that it deals with the risk that the credit spread may vary.

(c) “Associated costs” of loans should always be clearly defined to remove any possibility of variation.

(d) Basel II is an issue for banks; there are no issues for corporates.

(e) Don’t know

Answer 6

The right answer is (a)  Differences may increase in loan pricing between banks using different models and documentation for existing loans should be checked to ensure that it deals with the risk that pricing may change as models or ratings change.

The use of the either the standardised or the IRB approaches will determine the risk weighting to be applied to the loan and this will determine the bank’s associated costs.  So there is a risk that loan prices could change as either the model or the borrower’s implied rating changes.  A borrower should therefore benefit more by shopping around between banks.  Also, there is potential for costs of existing loans to change by more than they have historically as the new models are implemented and developed.

The Treasurer, June 2006, Basel II.   See guidance on Basel II and loan agreements at http://www.treasurers.org/technical/resources/lma/lmaguide_addition-08-05.pdf pages 5ff. 
